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ol NAEPE EX (EERE-E)
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= 25,594
= 46,000
< 48,848
Al 3,712,716
J=EStdE|BEE ) FUAZHE LD 3,808,558 3,476,697 331,861
= 25,594
= 46,000
< 48,848
Al 3,688,116
NAEEs 226,588 397,443 A170,855
ANSHESALF 142,673 196,228 53,555
201 YEr2 | 36, 173 136,173 0
01 At 2t 13,930 13,930 0
Ot =EH| 10,630
o=l S52elbl 2,217,000& 2,217
OEESY YRFL ARES  1,913,0008 1,913
0 SAEX 25,0002 1002 A 2,500
oZctZRH EUHR 223 2,000,000& 2,000
0SA & Tl EUe ARE
2,000,000 2,000
O0=g8+¢< 700
OBMAINSEELSAS SA=E
0,000 *10 *13l 700
O=g| 2,600
o NHEL3 AIZAY =&
5,0002 +4& 100! 2,000
oFUEHEO0IEAIE 22E  5,000&*4E*30 600
02 3524t 122,243 122,243 0
O3 2s2AAl 33,555,000 33,555
OAE2EBIR A 88,688,000 88,688
202 (44l 6,000 4,555 1,445
01 2 WA 6,000 4,555 1,445
OXNSHESAY HR=A 6,000,000 6,000
405 At&HF SHI 500 500 0
02 =AM 500 500 0
O3=2st2d TA72Y 50,000& 102 500
Ol B2 40,311 100,311 260,000
201 24yl 5,191 5,191 0
01 At 2t 3,400 3,400 0
O2Bt=EH| 2,200
0JIZ2ER = ARESHI 1,000,000& 1,000
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PSELp SO|EtStED FOAFHEO D
G NEEES =X cHel Sl
= _ XN L=
SA - FH SR (B) - NIRAY - BES e jmE=T
0ESES ME 2002 *3, 00004 <2 1,200
o=l 1,200
0QIEY TUHY 1,200,0002 1,200
03 BHAFR2 G H 1,791 1,791 0
OXNEAEH E20/HE 1,791,0002 1,791
202 074 1,120 1,120 0
01 2LH0{ | 1,120 1,120 0
O0EYEE AREA 1,120,0002 1,120
207 AN 30,000 50,000 220,000
02 ™A 30,000 50,000 A20,000
O Al EIY SHOIX B
30,000,000 30,000
301 YR A 4,000 4,000 0
1 IIEIE AR 4,000 4,000 0
OX T & SHOHIE AAX HE 4,000
o Xl H 200,0002 5% 1,000
o AHOF 100, 0002 * 10 1,000
0T H 20,0002 *100% 2,000
HE2AX A 39,104 98,904 A59,800
201 LEr2 Y 10,304 10,304 0
01 At2eld 5,850 5,850 0
YIRS =] 4,800
OANBIEES NS (NS L A2F)
1,700,0002 1,700
OANDIEEENS B8 2|23
200 *4, 0000} <23 1,600
0BRPAYBH WS (NENM L 22 E)
1,500,0002 1,500
o292 1,050
0RRANLS S AWMU (ZMSH)
700,000 700
0RPAXIIIS AXUS (ZOUA)
350,0002 350
02 Tz 4,454 4,454 0
O22R2LHIA 2,454,000 2,454
OAlEZH S 2,000,000 2,000
301 YetE A2 24,800 24,800 0
1 IIEIE A2 24,800 24,800 0
OADIEESI NS Q2 2AI2  19,800,0002 19,800
OZ22 L3NS 2l ZAIE2  5,000,0002 5,000
303 TA2 4,000 4,000 0
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201 LBl 2,500 1,000 1,500
01 AtS22t2| I 2,500 1,000 1,500
O er=2H| 2,500
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202 (Hl 2,000 1,000 1,000
01 =L YI 2,000 1,000 1,000
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2,000,000& 2,000
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S 16,848
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< 16,848
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201 2| 32,120 32,120 0
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4,000& *5,0000H 20,000
otAQIM EtERH EH 7Y
250,000 *4H 1,000
o=RSE LHMAEL =2 ME
60,000& * 197 & 1,140
0012 ¥ ZoIMYE AtAEOIN HSZX F
= 66,0003 «302f A 1,980
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SN HESAD
M NESIMEIINEE] FOMNEOICE

thelr JIE=2el (el &3
= = X L=
SA - FH SR (B) - NIRAY - BES Ofl &t e jmE=T
o MIEMN ¥ 2LICIAIAE 22l 224 =2
4 1,000,000& 1,000
02 222l 89,000 0 89,000
OAEEHI SRl 89,000,000& 89,000
202 o4l 1,000 0 1,000
01 = LHOBI 1,000 0 1,000
O=U0Yl 1,000, 000& 1,000
405 RHoHE SHI 550,000 0 550,000
01 At L =S F=HI 550,000 0 550,000
OZZ2LICtAIAE 2= 550,000,000& 550,000
SHZEA 33,612 33,653 A4
SHZEA 33,612 29,254 4,358
101 2124 4| 21,712 18,354 3,358
04 D122 2 XS E =+ 21,712 18,354 3,358
OAMSH & ZHHMESH SHXEZA IR
47,2002 x232 x20H 21,712
201 2| 9,900 8,900 1,000
01 At 22l HI 9,900 8,900 1,000
O Bt=2H| 8,000
osHHE COMIZ 7,000,000 14l 7,000
0SS HZARE =235 7 1,000,000& 1,000
O=Etl 1,900
oMM X ZAMIY SHIZAL =&
1,900,000& 1,900
202 o4l 2,000 2,000 0
01 2 LHOBI 2,000 2,000 0
OSH=EAN 2= 2,000,000& 2,000
HXLEHE =& 1,198,015 1,240,623 242,608
= 9,754
Al 1,188,261
SSIBAAE 2F 72,370 96, 144 A23,774
403 XM SAH=01A 72,370 67,344 5,026
02 I ZSOICHEHCHEE At I 72,370 67,344 5,026
OHZEE MMFH 72+ L 2SR
72,370,000 72,370
HEFZEANAE 2F 310,872 258,072 52,800
201 LBl 288,270 252,470 35,800
01 At22t2| I 5,089 5,089 0
O er==2H| 2,989
oJdle YRFA 2,989,000& 2,989
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- - bSIE|
2N -3 S2A(ZH) - HEAIY - BES 0ff A ‘@E% Hus2
O= 2| 2,100
0Jl2 ¥R=A 1,100,000 1,100
o2NHeIHEURAL LR=T 1,000,000& 1,000
02 2229 283, 181 247,381 35,800
O22222HAl 6,700,000 1201 & 80,400
OAl & EH S X 202,781
OB AIAL 2 162,781,000 162,781
OHFARE PC KX EL 20,000,000 20,000
o ANRXSEEH SX2el 20,000,000 20,000
202 04H| 4,602 3,602 1,000
01 2oy 4,602 3,602 1,000
OHFHEANAHRSH HR=X  4,602,0002 4,602
206 M 24l 2,000 2,000 0
01 X 24| 2,000 2,000 0
OZSEHLMA AR 2 2,000,000 2,000
207 A RIHEH] 16,000 0 16,000
02 & AN Y 16,000 0 16,000
OMSERE A2EDAIAE 2= 16,000,000 16,000
MMM (IINY & 2HY 2 82,000 249,000 A 167,000
206 M 24l 2,000 2,000 0
01 24 2,000 2,000 0
OUER3 X218 MM 22 2,000,000 2,000
401 Al HI L 20HYI 80,000 247,000 A 167,000
01 Al&H] 79,460 245,236 N 165,776
OADA, SHE 2222 HEKLIAZA
50,000, 0002 *98.92% 49,460
O SOl ZAIS A BRI IIIY RS 2A
30,000,000 30,000
03 Al& 2 HH 540 1,764 A1,224
OANA, SHE 222 HEIAZA
50,000, 00024 *1.08% 540
HAMAZY B2 528,300 422,000 106,300
405 KH&HE S HI 528,300 422,000 106,300
01 KAt S EF SH 528,300 422,000 106,300
OANRISE HARH RY(ABA, SHES N
ol2PC ¥ T2IH, WERIRH )
396,300,000 396,300
OXI=AD 2 132,000,00084 132,000
ATEQN B2 116, 160 117,400 21,240
207 &1 OH | 116, 160 117,400 21,240
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ol ARNLES EX (St @
SA - FH SR (B) - NIRAY - BES Ofl &t e jmE=T
02 & AN 116,160 117,400 A 1,240
Ob0ld A gz =28 F2¢
21,200& *1,300+330, 000 & 202 34,160
OZERE 2ZEF N 2
230,000& *2002+70,000& 3002 67,000
0%= ¥ S22lE ZR1Y S 7Y
30,000& *5002 15,000
HHSARMA ASAL(BEX) 32,615 26,944 5,671
= 3,544
Al 29,071
201 LBl 15,601 15,672 AT
= 3,544
Al 12,057
01 At 22| 15,601 15,672 AT
Oz 15,601
oMaiE2AIAE 25 2lA=2  15,601,000& 15,601
= 3,544
Al 12,057
308 MUXISHHSO0IA 17,014 11,272 5,742
05 XIS 2ARE S 17,014 11,272 5,742
OMA=FRAIAE A= 10,925,000& 10,925
OM=ERAIAE FANES 6,089,000& 6,089
HEFZAAYE CSHH WHAL(EX) 28,840 50,063 N21,223
= 6,210
Al 22,630
201 2| 28,840 50,063 N21,223
= 6,210
Al 22,630
01 At 22l HI 28,840 50,063 A21,223
Oz 28,840
oAl HEIEBAIAY =SHHl WA clA
=3 28,840,000& 28,840
= 6,210
Al 22,630
SsSHEXSD PC =3 E& 5,500 5,500 0
202 tddl 1,500 1,500 0
01 =LHOYI 1,500 1,500 0
SHEXSD PC =3 EH| 1,500,000& 1,500
206 T =4I 4,000 4,000 0
01 =4l 4,000 4,000 0
OS0/EXY PC 23 FUI8 425 2
4,000,000& 4,000
MO S PC =AY 5,500 5,500 0
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M FEstME)|gte sl AR
el MTRLYER =& (el &)
SA - FH SR (B) - NIRAY - BES Ofl &t e jmE=T
202 o4l 1,500 1,500 0
01 = LHOYI 1,500 1,500 0
OAE2 21 PC B 1,500,000& 1,500
206 T =4I 4,000 4,000 0
01 =4l 4,000 4,000 0
OPC 2E2E 7 4,000,000& 4,000
PHCIHY & RAF(EX) 15,858 10,000 5,858
308 MXISHHSO0IA 15,858 0 15,858
05 XIS FES 15,858 0 15,858
ORE2HY FSAY 15,858,000& 15,858
JaSA &3 AHY 570,705 776,370 A 205,665
gatsSalatel 494,302 733,152 A 238,850
201 2| 285,720 285,720 0
01 At 22l HI 17,720 17,720 0
O Et==2H| 14,220
o Z&ASH HRFA 2,220,000& 2,220
o MANMSIHS+F HM=HF 3,000& *3,000= 9,000
CENE BITBAUSE K
1,500& *2,000= 3,000
O= 2l 3,500
o Z&aSH HRFA 3,500,000& 3,500
02 222l 268,000 268,000 0
OZZ2ILAHA 205,000,000 205,000
OAEEHI SRl 63,000,000& 63,000
202 o4l 3,800 3,800 0
01 = LHOBI 3,800 3,800 0
OIS HRF 3,800,000& 3,800
206 T = 4| 4,000 3,000 1,000
01 M=l 4,000 3,000 1,000
OSAIHA 2T 72 2,000,000& 2,000
BESAAE 2L 2 2,000,000& 2,000
308 AtXIHHSO0IA 19,632 19,632 0
05 XXMt RS = 19,632 19,632 0
OC-A2?2 HLESHEY HE3HE
19,632,000& 19,632
401 A& HIZL 2 OHYI 14,000 14,000 0
01 A& | 10,000 10,000 0
OHFISAY OIMEXIZA 10,000, 000& 10,000
04 AR AIEHI 4,000 4,000 0




2N HREAD
HE: HESMEBIINSED FOUHFHUCE
el AMEAN HES ALY (ctol & @
o - A L=
SN B S9(S) - MRAE - A 0f &t e HIDEY
O=Tze SUSAHXBEBLSH, HEZSHM)
2,000,000& =23l 4,000
402 BIZ2tt=01 & 24,150 50,000 N 25,850
01 QI2tXt= 8 X% 24,150 50,000 A 25,850
Ol RUETSAAE A5 24,150,000 24,150
405 Xp&tF S 143,000 357,000 214,000
01 AL =SS H =8I 143,000 357,000 A214,000
OYFE FX S & 5,000,000 5,000
Ootlgdda gtel # 18,000,000 18,000
023 gt da ¢ 50,000,000& 50,000
OHIHG NHBE 2=(23,8HS)
70,000,000& 70,000
SOHENSY UL 2= 76,403 43,218 33,185
308 AAIHHSOIA 76,403 43,218 33,185
05 HXEHM2AFE= 76,403 43,218 33,185
Os0E 2UHESNT 7= 76,403,000 76,403
Atzlotd g = 892,461 660,861 231,600
= 46,000
s 32,000
Al 814,461
SEAMUEH =2E 640,461 578,861 61,600
201 2et2 4] 201,111 171,111 30,000
01 At2 22l 12,255 12,255 0
o2et+=3Y| 9,255
oZctielH EY & 4ARF 2,000,000 2,000
oSEZNUEH Y= JISSHA
2,000,000 2,000
o SEHMAEH ERFH 5,255,000 5,255
O= &l 3,000
oSEHAN HERFH 3,000,000 3,000
02 s==3H 188,856 158,856 30,000
O3S 2sNA 62,000,000& 62,000
OAEEHIR X 126,856,000 126,856
202 04H| 4,750 4,750 0
01 =W A 4,750 4,750 0
OSEZHdH 28 g2 4,750,000 4,750
206 = Hl 3,000 3,000 0
01 =4l 3,000 3,000 0
OSS2HdE A 7 3,000,000 3,000
307 212+01 A 321,600 320,000 1,600




2N HREAD
HH: HPoMBI|BSED) FUBFYHCD
ol APEIQIEY D& (el @9
z = &E
S - EHB . S9(3) - NSAY - BES Ofl &t o el HI DS
05 BI2HRIEr2 321,600 320,000 1,600
OCCTV 200l 812+ et 321,600,0002 321,600
401 Al & HI L2 0HHI 110,000 80,000 30,000
01 Al& ] 108,812 79,136 29,676
OSZEXY SHS TV SXBA
40,000,002 <3892/ 100 39,568
OCCTV &7 L OIFEX ZA
30,000, 00021 +98. 92% 29,676
OS2 (HSO0IA) CCTV &XBA
40,000, 00021 +98.92/ 100 39,568
03 Al& S CHHI 1,188 864 324
OSEXY SHES TV SXZA
40,000,0002!+1.08/100 432
OCCTV &7 & O|R&R BA
30,000, 00024 *1.08% 324
OS2 (HSOIA) CCTV & XIBA
40,000,0002!+1.08/100 432
012101 X 0IE CCTV &X 92,000 82,000 10,000
= 46,000
Al 46,000
401 A& HI L2 THY| 92,000 82,000 10,000
= 46,000
Al 46,000
01 Al& ] 91,172 81,262 9,910
©O{RI0] 0 CCTVA X
92,000, 00021 %99. 1% 91,172
=l 45,586
Al 45,586
03 Al& S CH| 828 738 9
OO{RI0] X 0IE CCTVA X
92,000, 00024 +0. 9% 828
= 414
Al 414
TR CCTV &XIAY 160,000 0 160,000
= 32,000
Al 128,000
401 A& HI L2 OHHI 60,000 0 160,000
= 32,000
Al 128,000
01 Al&t| 158,848 0 158,848
OS2 CCTV XA
160,000, 00021 %99. 28/ 100 158,843
= 31,712
Al 127,136
03 Al = CHY| 1,152 0 1,152
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HE: HESMEBIINSED FOUBFHUCE
Sl ALEIOHEY D& (B9 &2
x - fE]
SN SR(SH) - MRAY - BES 0] &k o8 el SImE=ET
OS2ZE OV BX A
160,000,0002 0. 72/ 100 1,152
= 283
Al 864
HHS YL (FESAD) 24,600 20,400 4,200
I ZH(BRSAD) 24,600 20,400 4,200
= ZH(HRSAD) 24,600 20,400 4,200
202 01l 20,400 16,200 4,200
01 2UHOTH| 20,400 16,200 4,200
OzEEZ oYl 85,0002 %202 * 1224 20,400
203 YR F Y| 4,200 4,200 0
VEE S 4,200 4,200 0
OZBSUD 350,0002 122 4,200




